2022130875 1)=&, 2022131104 2 X A
2022131024 = &E A, 2022130802 & Al 2!, 2022130849 & X| 2!




%)
e
C
)
]
C
@
@)
Y
@)
Q@
%
T

0







oln

_L T
o) xr
ol > X0
K0 < n0
ulo o =)
= H 10 —
s 5 &
io0 0 < __A_g =
— Y JI H Y oy
O 0 5 5 Sy
KF H B ST S
— _ Ok ) S ve
oJ =< = - S 0
- (o = un o 25
J0 ar X 7 Rl 8 a1
<0 2 ._._. n H o
N 100 ol >
<0 = i ol &
o J0 _— =
B - — = <0 S
> RT B ol Ki0 Q-
Rl a X ol o 31
100 7l IH r M0 5
%0 pq LA 0 o) 0
> %0 5l ro Kk I
A\ Y < [ (
® O ¥ ¢ @
o
X
- =5 jild
o S X0
N i &< o
O ol w2
) KO0 H 0o O
o ujo imn Sy
<0 = <+ K
<0 W H U o
ol ul o m Jis
3 i J g7 SO
— S 0K o S 50
or o o ki o) 85
B %0 S o = 8
= ~ B DL
D oF m i Ol ®
r 14 T = 0P
UFD OH < o1 Ko Z
o ] r o) o 3
T <| It Br Mo s
Y I LA 0 ol &
ol [0 = ji[e Kk <)
\J Y < [ (
® O ¥ 9 @



#l5 24

from nltk.tokenize import word_tokenize
from nltk import pos_tag

from nltk.stem import WordNetLemmat izer
import nltk

from nltk.tokenize import word_tokenize
from nltk import pos_tag

from nltk.stem import WordNetlLemmatizer
import nltk

punkt ')
averaged_perceptron_tagger')
omw-1.4")

wordnet ')

nltk.download("
nltk.download("
nltk.download("'
nltk.download(

lemmat izer = WordNetLemmat izer ()

with open('The Fall of the House of Usher .txt') as f:
txt = f.read()

txt = txt.lower()
txt = word_tokenize(txt)
txt = pos_tag(txt)

Icima = 1CHmac 1£e1 , 1THNaL 1 LS\ LUKeSIIfv], pus—= 11 )

elif token[1].startswith('R'):
lemma = lemmatizer.|emmatize(token[0], pos='r")

lemmas = |ist()
for token in txt:
if token[1].startswith('J'):
els lemma = lemmat izer. lemmat ize(token[0], pos='a')
elif token[1].startswith('y'):

. lemma = |emmat izer. lemmat ize(token[0], pos='v')

i il elif token[1].startswith('N'):

nitk.do lemma = |emmat izer. |emmat ize(token[0], pos='n')
elif token[1].startswith('R'):

stopwor _ , : S

SEHOE lemma = |emmat izer. |lemmatize(token[0], pos='r"')

stopwor else:

:XLTOE lemma = lemmat izer.|emmatize(token[0])

or to

o |emmas . append( | emma)

from nltk.text import Text
from nl

content_text = Text(|emmas)
fregs = : : ,
freqs.n A=content_text .concordance_l ist ( 'usher")

with open{'concor_mohican.txt', 'w') as f:
for kwic in A:

fowrite(f"{kwic.lineHn")

with open('concor_mohican.txt', 'r') as f:
last=f .read()

last=last.split("#n")

# pipe = pipeline("text-classification")
pipe(last)
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[{'label': 'NEGATIYE', 'score': 0.974245548248291},
{'label': 'NEGATIYE', 'score': 0.9984663724899292},
{'label': 'NEGATIYE', 'score': 0.994211733341217},
{'label': 'NEGATIYE', 'score': 0.924787700176239},
{'label': 'POSITIVE', 'score': 0.9954480528831482},
{'label': 'POSITIYE', 'score': 0.7481208443641663}]
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